CROSS SECTION: PETERSEN: 1346

nodes
nodes y z
- cm cm
1 37.50 -75.00
2 37.50 75.00
3 -37.50 75.00
4 -37.50 -75.00
lines
Tine | from to | thickn.A thickn.E | arch rise rar ral rer rel da de
- - cm cm cm cm cm cm cm ° °
1 1 2 1.00 1.00 0.000 0.00 0.00 0.00 0.00 0.00 0.00
2 2 3 3.00 3.00 0.000 0.00 0.00 0.00 0.00 0.00 0.00
3 3 4 1.00 1.00 0.000 0.00 0.00 0.00 0.00 0.00 0.00
4 4 1 3.00 3.00 0.000 0.00 0.00 0.00 0.00 0.00 0.00
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characteristic values

area, centroid and angle of principal axis

A= 750.00 cm? ey= 0.00
spread

Ymax = 38.00 cm | Ymin= -38.00
Zmax = 7650 cm | Zmin = -76.50

Imn-system: moments

of inertia and section moduli,

Im= 309476250 cm* Wm+ = 40454 .41

In= 632950.00 cm* Wm- = 40454 41

Ip= 372771250 cm* Wh+ = 16656.58
Wh- = 16656.58

shear centre

yM = 0.00 cm ysm= 0.00

M = 000 cm zsm= 0.00

shear area coefficient

Km = 3.19 Am = 23547

Kn = 2.61 An = 287 .41

torsion + warping

IT= 1447878.57 cm* | lw= 1008948501.28

Cs = 1008948501.28 cmé Ipm = 3727712.50

OM+ = 2008.93 cm? om- = -2008.93

section lines

im = 7050 cm = 0.00

plastic characteristic values

Whply,max = 44999.76 cm3® Whplzmax = 19685.83
Whplyred = 44999.76 cm3® Whplzred = 19685.83
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b= 76.00
h = 1563.00
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clearances and radii of gyration

cm3
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cm?

cm

cm?

hm+ = 38.00
hm- = -38.00
hn+ = 76.50
hn- = -76.50
n = 0.00
M = 0.00
Kn = 31 9
Ke = 2.61
Rsy = 0.00
i(uM = 1645
Wos = 502232.14
re = 0.00

Woln,max = 44998.76
Whpin,red = 44999.76
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o= 0.00 °
Ua= 458.00 cm
Ui= 442 .00 cm
U= 900.00 cm
(Imn = &ng)
im = 64.24 cm
in= 29.05 cm
ip = 7050 cm
Ay = 23547 cm?
Az = 287.41 cm?
Rsz = 0.00 cmb
Wa- = 502232.14 cm#*
fo = 0.00 cm

Wpiz,max = 19685.83
Wiz red = 19685.83

cm?3



